
EE 2240
Problem #03

Determine the value of V,.
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EE 2240
Homework Problem #009
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a. Determine the value of V7.

20 V for oun L ds
b. Determine the value of R,.

c. Determine the value of V5.

V, = 20V t49v + soy = Fo V

d. How much power does R, absorb?

Py = (oVdczay » So W

e. How much power does the independent current source deliver?

0, = (3 N, = (A)Crov) = [TOW



EE 2240
Homework Problem #010

For the circuit shown below: -SA 4A
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a. Determine the value of Ii.

b. Determine the value of R,.
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| © -_ a JLjo A lo-5 )

c. Determine the value ofb.

1,2 SA t[dA = (94

d. How much power does R;, absorb?

Py - (QooV)(1ed)r \OooW = ILW
= (10 AY* fy ~ loooWwW = | LW

e. How much power does the independent voltage source deliver?

Pe = ([oovIC94Y = [Gro W > L9LW



EE 2240
Homework Problem #012

Use equivalent resistance and the current divider equation to determine each of the following:

a. Ii 2 2
T= E CTA = = 17 ~ 2 A

\ I 7

b. b
B50iL," 14 = 5 A
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c. I;

Cgct)

d. I



EE 2240
Problem #04

. Determine the power absorbed by the 1 Q resistor.

t (30 “
Don = Bail

= Too W
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. Determine the value of I.
. BevTot 2 - lo A

f 2 108 - lod = ©
. Determine the power absorbed by the 3 Q resistor.

(OP (10AY (3) T Boo W

. How much power is delivered by the 30 V independent voltage source?

Tq = 390A 315A +1 = 45 A

vs = C30uDCYSA) =» [350 W
. How much power is delivered by the 10 A independent current source?

Pua = (0A) (3ov) = 30 0W



EE 2240
Problem #05

Find V,.
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EE 2240
Problem #06

Determine the value of 7.
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EE 2240
Problem #07

Determine the value of 7.

10 Q 20Q



EE 2240
Problem #08

Find V,.
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EE 2240
Problem #09

Determine the value of 7, .
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